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CBT Practice test model answers

Credit Management and Debt Control (CRMC)

Practice assessment 1

Section 1

Task 1.1
[image: image2.png](a) The essential features of a valid simple contract are:

Offer, acceptance and consideration only

Offer, acceptance, consideration, intention to create legal relations and cetainty of terms only

Offer and acceptance only

Offer, acceptance, intention to create legal relations only

(b) Consideration is:

The intention of he partes to be legaly bound

The need for faimess in the contract

The promise to exchange value

The payment of cash






Task 1.1, continued

[image: image3.png]() Mohammad orders a pizza by telephone, and says he will pay on delivery. Which of the following would
constitute consideration?

Calling the pizza restaurant

Handing over money to the pizza delivery person

Accepting delivery of the pizza.

Promising to pay for the pizza






Task 1.2

[image: image4.png](a) Dave shops at a supermarket. A contract is formed when:

Dave pays for his shopping

Dave puts his selection in the trlley

“The checkout assistant takes Dave's goods

Dave picks up items from the shelves

(b) Mary is the owner of a florist. She places a notice in the window advertising the sale of roses at half
price. The notice is:

A contractual offer

A completed contract

An acceptance of an offer

Aninvitation to treat





Task 1.2, continued

[image: image5.png](c) Alpha Limited receives a letter from Beta Limited containing an order for 100 kilograms of rice. Alpha
‘sends Beta a schedule of standard conditions which includes the clause that payment s due within
30 days of invoice date. This clause is an example of:

Aninvitation to treat

Consideration

An offer

Amisrepresentation

(d) John receives aletter from Michael containing an order of 50kg of sugar for £100. Which of the
following statements is correct?

Michael's letter is an invtation to treat and John's response that he can supply the sugar s an offer

Michael's etter is an offer and John's response that he can supply the sugaris an acceptance.

Michael's etter is an acceptance and John's response that he cannot supply the sugaris a breach of contract

Michael's letteris an acceptance and John's response that he can supply the sugar is consideration.






Task 1.3
[image: image6.png](a) Mary orders some clothing which is advertised as being 100% pure new wool. When she receives the
90ods, the label says 60% wool and 40% polyester. Mary has a claim for breach of contract due to:

Fiduciary misconduct

Misrepresentation

Misuse of Sales Act

Unfair Contract Terms Act

(b) The Late Payment of Commercial Debts (Interest) Act allows:

Customers to charge interest on overdue amounts owing

Commercial banks to charge interest on loans.

‘Suppliers to charge interest on overdue amounts owing

‘Suppliers to give discounts for early payment.





Task 1.3, continued

[image: image7.png]{c) Nita asks Harry for a price to paint the interior of her flat. Harry says he can do it for £200 and Nita
‘says that will be fine. Halfway through the work Harry asks for an additional sum of £100 because he
‘underestimated the work. Which of the following statements is correct?

Nita must pay Harry the £100 because the agresment was made in good faith and Harry made a mistake.

Harry cannot force Nita o pay the addiional amount because the agreement was for £200.

Harry can force Nitato pay because she never accepted the price.

I Nita refuses to pay Harry can simply work unil he has done £200 worth of painting.





Task 1.4

[image: image8.png](a) The Data Protection Act applies to:

Data about individuals only

Data about individuals, companies and goverment depariments

Data about companies only

Data aboutindividuals and companies only

(b) The Data Protection Act applies to:

All records held by the company

Only manual records

Only computer records

Only records of opinions





Task 1.5

[image: image9.png](a) Company Alpha has a customer, Beta limited, who refuses to pay an outstanding amount of £500.
Which of the following courts will deal with any action taken by Alpha to enforce the repayment of the
debt?

The High Court

An Industial Tribunal

ASmall Claims Court

The County Court

(b) Legal action can be taken against a customer for non payment of an invoice when:

There is a coniract n existence and the non payment s a breach of contract.

There is no contractin existence butthe paymentis stil due.

There is a coniract in existence and the non payment s 3 misrepresentation

There is a contractin existence and the non paymentis a remedy.






Task 1.5, continued

[image: image10.png]{c) The normal remedy for breach of contract due to non payment of the debt is:

An action for specific performance

‘An acion for price

An acion for remedy

An action for the goods

(d) Retention of ttle is:

“The right of the purchaser to retain ownership of the goods received.

The right of the seller o retain ownership of the goods uniil a cheque has been posted.

The right of the seller o retain ownership of the goods uniil payment is made.

The right of the purchaserto expect that itle is retained by the seller even when payment has been recsived.





Task 1.5, continued

[image: image11.png]{e) In order to petition the court for a winding up order, the company must be owed at least:

78

2750

£7.500

£1,000






Task 1.6
[image: image12.png](a) Why is liquidity management important?

Liquidity management is important to ensure that a company does not make a loss.

Liquidity managementis important 5o thatthe shareolders can see how much retum they will get on
theirinvestment.

Liquidity managementis important 5o that the company can estimate how much cash is tied up in
inventory and non current assets.

Liquidity managementis important 5o that the company can ensure that cashis available to discharge
commitments.






Task 1.6, continued
[image: image13.png](b) Alpha Limited has sold goods on credit to Beta Limited. The following information is available.
() Aged trade receivables analysis
(@ Copies of outstanding invoices
i) Copies of contractual documents
() Copies of trade references

() Copies of bank references

Which of the above documents will be needed to aid the collection of the outstanding amounts owed
by Beta Limited?

Allitems

i), ) and i) only

i). ) andv) only

iv) ang) only





Task 1.6, continued

[image: image14.png]() Which of the following information could be used to assess the credit status of a new customer?
() Financial accounts
(i) Aged trade receivables analysis
i) Copies of outstant

(W) Draft contract for trade

() Trade references

(vi) Bank references.

Alitems

i), i) and i) only

i),iv) ang ) only

i),) and v only






Task 1.6, continued
[image: image15.png]{d) Which of the following is not a method of analysing credit control information?

Aged trade payables analysis

Trading history

8020 rule

Materialty

(€) The 80120 rule method of analysing information on trade receivables is

Arule where you only look at the first 80 customer records

Arule that 20 customers out of every 100 will go into liquidation

‘Arule that approximately 80% of the value of the amounts owed will be represented by approximately
20% of the customer accounts.

Arule thatthe company must make at least 20% profit out of every £100 of goods sold.





Task 1.7

[image: image16.png](a) Which of the following is a reason for offering discounts for prompt payment?

To make the customer feel that they have recsived 3 bargain

To improve the cash flow of a business

To make more prof.

To decrease the cost of loans.

(b) A company's terms of payment are 28 days. Itis offering a discount of 5% for payment within 14 days.
Customer A owes £1,000. Calculate the amount A will pay if they take advantage of the discount and
also the simple annual interest rate of the discount.

2980 and 137.22%

2950 and 37.22%

29850 and 130.36%

2950 and 30.36%





Task 1.8

[image: image17.png](a) Invoice discounting is a method where:

Discounts are given for early payment of invoices.

Afinance house lends money against invoices issued.

Areduction is given for faulty goods.

Ajudgementis given by a court

(b) Creditinsurance allows a company to claim for:

Amounts owed by a customer who has dsfaulted on payment.

Amounts owedto a bank on a mortgage.

Amounts owed to creditors when a company makes losses.

Amounts owedto shareholders when a director has acted llegally





Task 1.8, continued

[image: image18.png]{c) Organisations often use debt collection agencies because

Debt collection agencies have more powers than ordinary companies.

Debt collection agencies can place customers on stop with al other suppliers inthe sector.

Debt collection agencies have a rightto seize goods from customer

Debt collection agencies gst results because customers take more notice and are more likely to pay.





Section 2
Task 2.1

[image: image19.png](a) Complete the table below by calculating the key indicators (to 2 decimal places) for 2011 and 2010 for
X Limited, and rate the company using the credit rating scoring system.

201 2010
X Limited
Indicator Indicator

(Operating profit margin % 2333 5 818 5
Interest cover 0 30 0 30
(Current ratio 093 20 11 -10
(Gearing % 4878 10 1852 20
Total credit rating





[image: image20.png](b) Based on the results of your credit rating and using the table above, recommend whether the
requested credit limit should be given to X Limited.

Customer Decision

X Limited Reject -





Task 2.2

[image: image21.png](a) Complete the table below by calculating the key indicators (to 2 dp) for 2011 and 2010 for Z Limited.

201 2010
Z Limited
Indicator Indicator
(Gross profit margin % 3056 25.00
(Operating profit margin % 1444 6.8
[Trade payables payment period in days 87.60 79.08
Inventory holding period in days 7008 60.83
(Current ratio 153 154
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Task 2.2, continued
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Task 2.3
[image: image22.png](a) Write a brief note to explain whether Y limited is overtrading by stating the signs of overtrading and
considering Y Limited's indicators.

[The signs of overtrading are as follows:

- Rapidly increasing sales revenue normally linked to extended creditterms to customers or trading with

‘customers with a lower credit score.

- Increased inventory and trade receivable levels increasing the funds tied up in working capital.

- Reduced margins may occur when the business attempts to saturate the market.

- Reduction in cash orincreased overdrattis a common sign that cash is flowing out of the business
and not being replenished by cash from customers

- Increased levels of trade payables is common but not necessarily a sign of overrading.

- The above indicators needto be considered together - just one s unlikely to be a sign of overtrading.

¥'s indicators:

- Revenue has increased but only by less than 10%.

- Gross margin and operating margin has decreased and all the decrease is due to the increased cost
of sales. This indicates that there has been pressure on the margin.

- Inventory levels are up by over 200% which is a sign of overtrading

- Cashhas reduced butis still positive.

- Trade payables and trade receivables have both increased.

- There are many signs that Y limited is overtrading.





Task 2.3 continued
[image: image27.png]Profitability

- The revenue has grown but the profitablity has fallen which is a warning sign

- Interest cover has fallen substantially which is another warning sign
butthe company has secured large bankloans to purchase non-current assets.

- This might also explain the reduction in gross margin ue to increased (fullyear even) depreciation
charges without  fullyear of benefit.

Liquidity

- Currentratio has actually improved which appears to be a good sign until you look atthe increased
levels of trade receivables and inventory which will take time to sell

- Trade payables have increased from 134 to 167 days which is a warning sign of cash flow problems,
butagain this may be distorted by the increased in sales around the year end.

Borrowing

- Gearing has increased from 43% to 66% which is a waming sign but there is no short term debt or
overaratt

- Also, the additional information states thatthe company has expanded and the fact that the bank has
given loans for the purchase of new asses is a good sign. However, the bank will have security over
the business.

summary
- There are many indicators which are cause for concem and overall Y Limited s a higher riskthan it
was lastyear.

- 1suggest that we visitthe company to investigate further and also sk for an up to date position as
these accounts are over 9 months old.

- We could consider giving credit ffurther information provides comort

- The companyis stiliquid with cash at bank atthe year end.





[image: image28.png]o

2

0000

[egio0L )

Assessment Title.

&1 | © Time Remaining: 180 min & Candidate No: 1234656 © Question: 12

g @
[ Trrossedmentosnd vace el vls naog e e ed I workig ol
- Reducedmarinsmay ocurwnen e busines aempl o atrl o maret.
- Reductonincash o ntessed vttt  ormmon sin o cosh s fowing e busiess
and not being replenished by cash from customers.
- Inctesscalov ofads pajaie i cormon bt ot ecessay a5 of itacng
- Toe sboe nacaos nesat b consdaedtogenr-ustan s unhey 0 b a inof etz

v's indicators:

- Revenue has increased but only by less than 10%.

- Gross margin and operating margin has decreased and all the decrease is due to the increased cost
of sales. This indicates that there has been pressure on the margin.

- inventory levels are up by over 200% which s a sign of overtrading

- Cash has reducea butis stil positive.

- Trage payables and trade receivables have botn increased.
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(b) Write a report considering allthe information and decide whether Y Limited should be given extended
credit terms.

Please note thatthere is not one correct answer to this task as any assessmentis subjective. You need to
justify your decision based on a range of indicators. You can make use of additional terms in the contract or
any other options open to Alpha limited which could provide addiional comfort

[+ Interest cover has fallen substantially which is another warning sign
butthe company has secured large bankloans to purchase non-current assets.

- This might aiso expiain the reduction in gross margin due to increased (full year even) depreciation
charges without a ull year of benefit

Liquidity

- Current ratio has actually improved which appears to be a good sign until you look atthe increased
levels of trads receivables and inventory which willtake time to sell

- Trage payables have increased from 134 to 167 days which is awarming sign of cash flow problems,
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Task 2.4
[image: image23.png]Complete the table below by selecting the correct picklist for each customer:
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Task 2.5 


Sample answers.



[image: image24.png][Beckham & Co

[Check which grade of product Beckham ordered by looking atthe original order placed by Beckham - did
tney order a specific grade? Next, consultthe delivery note to check the grade of product delivered - is this.
cifterentto the product ordered? What evidence s there that Beckham communicated that the product was.
o an incorrect specification? The outcome willetermine whether a credit note should be issued or further,
credit control action taken, and whether a provision needs to be made.

Cole Limited
Often the commentfrom Cole Limited is a delaying tactic. Cole should be contactedto ask forthe date that
the cheque was posted and the cheque number so that Alpha can double check whether the cheque has.
[been received or not Ifthe date of the cheque being sent was a week or more ago ask Cole to cancel the
cheque and pay by a BACS transfer. An experienced credit controller should be able to distinguish
between truth and lies and will be able to take appropriate additional action if necessary, depending on the
outcome of speaking with Cole. Itis unlikely that the new order will be despatched untilthe overdue
[amount has been paid.

GO Limited
G O Limited should be contacted to discuss the qualityof the goods andto explain that the contract
stipulated that notiication had to be made within 24 hours. As this was not the case, unless it can be.
[proven thatthe poor quality existed at point of delivery, G O need to pay in ull. Depending on the outcome
of the call, action may be taken to give a discountfor payment, agaressively enforce payment and threaten
to sue ortake back delivery of the goods ifthey can be resold without loss for example.

[Handover Limited
|41l paperwork for this order and delivery needs to be gathered and reviewed. How was the credit imit
decided, what paperwork rail Go we have, where is the registered office, who placed the order and who
took receipt of the delivery? A credit check with a reputable company may highlight issues or give details of
[the company's registered office. Check the company's registered office with Companies House andthen
[send correspondence by ‘signed for' Royal mail post, or equivalent The answers to the above questions
| will determine the course of action which may include engaging a credit collector, taking legal action,
|writing off the debt. A isitto the address of delivery will also add to the evidence. A provision is probably






Task 2.5, continued
[image: image25.png][needed for the full amount as creditinsurance is unlikely to be been given.

incase Limited
|45 a matter of urgency the company should be visited in person to establish whether they are trading atthe.
address or have disappeared. All paperwork needs to be gathered and reviewedto determine who atthe
company placed the order.Is the company st rading? This can be identified by a Companies House
searcn. Ifhe company is notin an insolvent position, liquidation, receivership or administration, ane
option wil be to take legal action or instruct a debt collection agency. A provision is probably needed for
{the ful amount as creditinsurance is unlikely to have been given.

S Ly Limited
Gather all paperwork. Contact SLY Limited and ask why the payment has not yet been made. Take
[appropriate action depending on the conversation with SLY. Wake sure that the communications are kept
professional and polite especially since SLY is a regular and important customer (rading in excess of
[£40,000 each month). Provision is unlikely to be needed unless there is information which suggests that
the overdue amountis disputed.

S ole Trader
Gather al the paperwork and identity the action taken so far. What s the reason given by S ole Trader for
ts non-payment? Depending on the reasons, either legal action may be needed or a credit note given. A
rovision may be needed Creditinsurance may have been provided for this customer in which case a
claim needs to be sent o the creditinsurer.

X Soletrader
| sk for Getails ofthe cheque so that Alpha's records can be double checked. The details nesded are the
cheque numoer, date raised, date posted and the address to which the cheque was sent Alernatively, it
could be requested thatthis cheque be cancelled and a new one be issued. Do not deliver any more
900ds and check to see ifthe accountis creditinsured. A provision may be needed.
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